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The perimeter of the rectangle
below is 34 inches. The
length is 8 inches.

What is the width?

8 in.

The perimeter of the rectangle
below is 26 inches. The
length is 9 inches.

What is the width?

qdin.

The perimeter of the rectangle £
below is U8 inches. The :
length is 6 inches.
What is the width?

6 in.

The perimeter of the rectangle {
below is 22 inches. The :
length is 7 inches.
What is the width?

7 in.




The perimeter of the rectangle
below is 22 inches. The
length is 9 inches.

What is the width?

qdin.

The perimeter of the rectangle
below is 30 inches. The
length is 9 inches.

What is the width?

qdin.

The perimeter of the rectangle
below is 16 inches. The
length is 5 inches.

What is the width?

5in.

The perimeter of the rectangle
below is 28 inches. The
length is 8 inches.

What is the width?

8in.




The perimeter is of the pentagon

below is 35 inches.
What is the width?

The perimeter of the rectangle
below is 4y inches. The
length is 12 inches.

What is the width?

12 in.

The perimeter of the rectangle
below is H2 inches. The
length is I5 inches.

What is the width?

15 in.

The perimeter of the rectangle
below is 24 inches. The
length is 7 inches.

What is the width?

7 in.




The perimeter is of the square
below is 24 inches.
What is the width?

The perimeter of the rectangle
below is 26 inches. The
length is 7 inches.

What is the width?

6 in.

The perimeter of the rectangle
below is 32 inches. The
length is 10 inches.

What is the width?

10 in.

The perimeter of the rectangle
below is 24 inches. The
length is 9 inches.

What is the width?

qin.




The perimeter is of the triangle below

is 56 inches. The base is 16 inches.
What is the width?

The perimeter of the rectangle
below is H2 inches. The
length is I5 inches.

What is the width?

15 in.

The perimeter of the rectangle
below is HY inches. The
length is 17 inches.

What is the width?

17 in.

The perimeter of the rectangle
below is 20 inches. The
length is 8 inches.

What is the width?

8in.




The perimeter is of the pentagon

below is 50 inches.
What is the width?

H The perimeter of the rectangle below

is 60 inches. The
width is 10 inches. The length is two
times the width. What is the width?

The perimeter of the rectangle
below is |4 inches. The
length is 4 inches.

What is the width?

Y in.

H The perimeter of the rectangle below |

is 54 inches. The :
width is 9 inches. The length is two
times the width. What is the width?
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THANKS!

Thank you for Purchasing! If you are
haPPy with this Product , Please leave
Positive feedback. If not, Please let me

know So I can try and fix if.




